[ Efficiency vs vertpos |

~ 0.7

0.09F] -+ -+f-+isereeeeee oo e
o °F : : :
=.0.08F] i roveee S
(8] F . . .
§0.07H R R e
s _F : : E
5 0.06F] S o e
0.05E] SN SIS RRREEIERS REREEREE
0.04H ST IR SRS e
R o L I A SR e
0.02H R e
0.01H b 0731 F AR SRR e
o Gf i .! 1 .......! 1 ......! L
T [ N N
@ 15p S K (R B Y EEEPTEPEEY EPEEPE PEEPEPPERRD
) 0 1 0 0 1 N O O

107 1

=
2
N

10 0?
TP vertr (cr%)

—s=— DQM_mkFit_baseline_lowPT

Effici B — DQM_mkFit:baseIineGiter_IowPT
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

~ 0.05

R R SN 4 N U S
» E : : : : :
>0.04F------ REEERER S IR RN I e
3 E : : : : :
U 8 [Thak ETRE & SIS B
5 E : : : : :
£ 0,08+l e
] o : : : : :
0.025F------ SRR | I 38 B A A P
TSI 41 4114 S S
TSR S 41 A —
TR B840 N S
E : : f : :
0.005F--" AR | M I M 111 S e
o oot i b b BLILL
g f
o [
| RN SRLLRRLES P U e O

09/ —=20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

D
T T T[T

RS . ]

= : |

< : |

o ; |
- e - —

008 6 4 20 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


